NC JH 2019							
May 11, 2019							
Division	Event	School	Final Result	Final Place in Hea	Final Place	Points	Athname #1
8th Grade Girls	100 M Dash	Oak Grove	14.77	1	1	10	Emily Meidinger
8th Grade Girls	100 M Dash	Maple Valley-Enc	14.8	1	2	8	Brooklyn Olson
	100 M Dash	Kindred	14.85	2	3	6	Karli Rossow
	100 M Dash	HCV	14.85	3	4	5	
		-		2	5	4	Elyssa Heppner
	100 M Dash	Northern Cass	15.09				Jocylyn Aasen
	100 M Dash	HCV	15.38	1	6	3	Olivia Anderson
	100 M Dash	Maple Valley-End	15.44	3	7	2	Rachel Bergstedt
	100 M Dash	Maple Valley-End	15.63	4	8	1	Chloe Wetch
	100 M Dash	Valley City	15.67	5			Hallie Halversen
	100 M Dash	HCV	16.05	4			Emma Aamold
	100 M Dash	Kindred	16.3	5			Libby Lynnes
	100 M Dash	Valley City	17.1	2			Keira Vaughn
	100 M Dash	Central Cass	18.98	6			Mariah Heidinger
8th Grade Girls	100 M Dash	Maple Valley-End	19.63	3			Ashten Hannig
8th Grade Girls	200 M Dash	Oak Grove	32.17	1	1	10	Emily Meidinger
8th Grade Girls	200 M Dash	Maple Valley-End	35.28	2	2	8	Brooklyn Olson
8th Grade Girls	200 M Dash	Valley City	37.43	3	3	6	Hallie Halversen
	400 M Dash	Oak Grove	1:08.21	1	1	10	Ava Webber
8th Grade Girls	400 M Dash	Maple Valley-Enc	1:11.43	2	2	8	Genevieve Gruba
8th Grade Girls	400 M Dash	HCV	1:19.56	3	3	6	Jez Dovenmuehler
8th Grade Girls	400 M Dash	Maple Valley-Enc	1:19.61	4	4	5	Rachel Bergstedt
3th Grade Girls	400 M Dash	HCV	1:22.68	5	5	4	Olivia Anderson
8th Grade Girls	800 M Run	Oak Grove	2:42.68	1	1	10	Ava Webber
8th Grade Girls	800 M Run	Valley City	3:00.00	2	2	8	Carly Goven
8th Grade Girls	800 M Run	Kindred	3:02.50	3	3	6	Elizabeth Solhjem
3th Grade Girls	800 M Run	Kindred	3:04.96	4	4	5	Jadie Osier
8th Grade Girls	800 M Run	HCV	3:09.72	5	5	4	Jez Dovenmuehler
8th Grade Girls	1600 M Run	Valley City	6:49.02	1	1	10	Carly Goven
8th Grade Girls	4 x 100 (400 M) [	Northern Cass (A	56 78	1	1	10	NC#5, X
			56.78	1	1		
		Maple Valley-End	59	2	2	8	MV#3, X
8th Grade Girls	4 x 100 (400 M) F	110V (A)	1:01.99	3	3	6	HC#1, X
8th Grade Girls	4 x 200 (800 M) F	Northern Cass (A	2:00.96	1	1	10	NC#1, X
	4 x 200 (800 M) F	· · · · · · · · · · · · · · · · · · ·	2:10.12	2	2	8	Ki#3, X
	4 x 200 (800 M) F		2:16.52	3	3	6	VC#1, X
	4 400 (4000 1.5	North c == 0	4.57.40		4	40	
	. ,	Northern Cass (A	4:57.49	1	1	10	NC#9, X
3th Grade Girls	4 x 400 (1600 M)		5:02.96	2	2	8	Ki#9, X
8th Grade Girls	200 M Hurdles	Maple Valley-End	34.75	1	1	10	Genevieve Gruba
8th Grade Girls	Long Jump	Maple Valley-Enc	13-2"		1	10	Genevieve Gruba
	Long Jump	Northern Cass	12-2"		2	8	Noelle Erickson
	Long Jump	Northern Cass	11-10"		3	6	Cady Evenson
Bth Grade Girls	Long Jump	Maple Valley-Enc	10-8"		4	5	Brooklyn Olson
8th Grade Girls	Long Jump	HCV	9-11"		5	4	Elyssa Heppner
8th Grade Girls	Long Jump	Kindred	8-9"		6	3	Libby Lynnes
	Long bump		00		U U	0	

8th Grade Girls	Shot Put	Maple Valley-End	32-3"		1	10	Chloe Wetch
8th Grade Girls	Shot Put	Valley City	31-8"		2	8	Tyana Judd
8th Grade Girls	Shot Put	HCV	30-7"		3	6	Mataya Arends
8th Grade Girls	Shot Put	Valley City	30-4"		4	5	Brooke Eggermont
8th Grade Girls	Shot Put	Central Cass	29-11"		5	4	
	Shot Put						Jordan Flynn
8th Grade Girls		HCV	29-4"		6 7	3	Paige Bishop
8th Grade Girls	Shot Put	Valley City	29-2.50"			2	Keira Vaughn
8th Grade Girls	Shot Put	Central Cass	28-4"		8	1	Cassie Bartholomay
8th Grade Girls	Shot Put	Maple Valley-End	26-8"				Ashten Hannig
8th Grade Girls	Shot Put	Central Cass	25-7.50"				Claire Christianson
8th Grade Girls	Shot Put	Central Cass	25-5"				Autumn Trosen
8th Grade Girls	Shot Put	HCV	23-11"				Ali Kritzberger
8th Grade Girls	Discus	HCV	71-6"		1	10	Ali Kritzberger
8th Grade Girls	Discus	Central Cass	69-3"		2	8	Cassie Bartholomay
8th Grade Girls	Discus	Central Cass	69-0"		3	6	Autumn Trosen
8th Grade Girls	Discus	Northern Cass	68-4"		4	5	Halle Crockett
8th Grade Girls	Discus	HCV	67-8"		5	4	Mataya Arends
8th Grade Girls	Discus	Valley City	66-8"		6	3	Brooke Eggermont
8th Grade Girls	Discus	HCV	64-9"		7	2	Paige Bishop
8th Grade Girls	Discus	Central Cass	64-3"		8	1	Jordan Flynn
8th Grade Girls	Discus	Valley City	61-11"				Tyana Judd
8th Grade Girls	Discus	Central Cass	61-6"				Claire Christianson
8th Grade Girls	Discus	Valley City	60-5"				Keira Vaughn
8th Grade Girls	Discus	Valley City	57-10"				Hallie Halversen
8th Grade Girls	Discus	Maple Valley-End	49-4"				Ashten Hannig
8th Grade Girls	Discus	Central Cass	49-2"				Rylee Rhodes
8th Grade Girls	Triple Jump	Northern Cass	29-0"		1	10	Halle Crockett
8th Grade Girls	Triple Jump	Northern Cass	25-2"		2	8	Jocylyn Aasen
8th Grade Girls	High Jump	Maple Valley-End	4-8"		1	10	Genevieve Gruba
8th Grade Girls	High Jump	Maple Valley-End	4-6"		2	8	Rachel Bergstedt
8th Grade Girls	High Jump	HCV	4-4"		3	6	Elyssa Heppner
8th Grade Girls	High Jump	Northern Cass	4-2"		4	5	Makenna Belling
	ingir oump				· ·	0	
8th Grade Girls	Throwers Relay	Kindred (A)	1:06.03	1	1		Ki#5, X
8th Grade Girls	Throwers Relay	Central Cass (A)	1:09.15	2	2		CC#1, X
8th Grade Boys	100 M Dash	Kindred	12.72	1	1	10	Charlie Biewer
8th Grade Boys	100 M Dash	Oak Grove	12.87	2	2	8	Damon Hospidales
8th Grade Boys	100 M Dash	Kindred	13.19	3	3	6	Jorgen Swenson
8th Grade Boys		Oak Grove	13.33	4	4	5	Andrew Green
8th Grade Boys		Valley City	14.3	1	5	4	Khalub Smith
8th Grade Boys		HCV	14.31	2	6	3	Adyn Eckart
8th Grade Boys		Central Cass	14.97	1	7	2	Hunter Storhoff
8th Grade Boys		Maple Valley-End	15.15	3	8	1	Marty Rohrbeck
8th Grade Boys		Kindred	15.28	4	0	•	Masen Allmaras
8th Grade Boys		Richland	15.47	2			Tanner Zander
-	100 M Dash	Central Cass	15.69	3			Parker Mack
our Grade DUys			13.08	3			ו מותכו ויומטת
8th Grade Boys	200 M Dash	Kindred	26.52	1	1	10	Charlie Biewer
8th Grade Boys	200 M Dash	Oak Grove	27.86	2	2	8	Damon Hospidales
8th Grade Boys		Oak Grove	28.14	3	3	6	Rylee Bakkegard
	200 M Dash	Oak Grove	28.65	4	4	5	Andrew Green
8th Grade Boys 8th Grade Boys		Oak Grove Maple Valley-End	28.65 29.37	4	4 5	5	Riley Fernow

8th Grade Boys	200 M Dash	HCV	29.81	3	7	2	Adyn Eckart
8th Grade Boys	200 M Dash	Richland	31.18	4	8	1	Tanner Zander
-		Kindred	31.78	5			Masen Allmaras
,							
8th Grade Boys	400 M Dash	Maple Valley-End	1:05.34	1	1	10	Clay Hovelson
8th Grade Boys	400 M Dash	Maple Valley-End	1:06.62	2	2	8	Riley Fernow
8th Grade Boys	400 M Dash	Maple Valley-End	1:08.06	3	3	6	Colton Iwen
8th Grade Boys	400 M Dash	Richland	1:08.31	4	4	5	Tanner Zander
				-		-	
8th Grade Boys	800 M Run	Oak Grove	2:31.21	1	1	10	Jack Nichol
	800 M Run	Central Cass	2:33.81	2	2	8	Josiah Crandall
8th Grade Boys	800 M Run	Valley City	2:35.46	3	3	6	Koye Grebel
	800 M Run	Maple Valley-End	2:51.81	4	4	5	Colton Iwen
,							
8th Grade Boys	1600 M Run	HCV	5:38.56	1	1	10	Simon Mau
8th Grade Boys	1600 M Run	HCV	5:46.38	2	2	8	John Kaldor
	1600 M Run	Valley City	5:48.18	3	3	6	Koye Grebel
	1600 M Run	Central Cass	5:51.97	4	4	5	Josiah Crandall
8th Grade Boys		Kindred	5:52.32	5	5	4	Jack Stoppleworth
-	1600 M Run	HCV	5:52.53	6	6	3	Jake Wright
8th Grade Boys	1600 M Run	Oak Grove	6:06.62	7	7	2	Rylee Bakkegard
8th Grade Boys	1600 M Run	Central Cass	6:38.38	8	8	1	Jaden Johnson
8th Grade Boys	4 x 100 (400 M) I	Kindred (A)	51.93	1	1	10	Ki#7, X
	4 x 100 (400 M) I		53.9	2	2	8	HC#8, X
	4 x 100 (400 M) I	. ,	54.24	3	3	6	OG#6, X
-	4 x 100 (400 M) I		59.21	5	4	5	NC#6, X
	4 x 100 (400 M) I		58.71	4			Ki#9, X
				· ·			
8th Grade Boys	4 x 200 (800 M)	Kindred (A)	1:17.08	1	1	10	Ki#1, X
	4 x 200 (800 M) I		1:52.02	2	2	8	OG#4, X
	4 x 200 (800 M) I		2:01.52	3	3	6	MV#1, X
-	4 x 200 (800 M) I		2:08.24	4	4	5	VC#1, X
	(,			-		-	
8th Grade Boys	4 x 400 (1600 M)	HCV (A)	4:29.47	1	1	10	HC#9, X
	4 x 400 (1600 M)	. ,	4:43.60	2	2	8	MV#11, X
	4 x 400 (1600 M)		4:55.44	3	3	6	NC#13, X
	,			-			
8th Grade Boys	110 M Hurdles	Kindred	17.62	1	1	10	Trey Heinrich
8th Grade Boys	110 M Hurdles	Kindred	19.87	2	2	8	Cort McDonald
-	110 M Hurdles	Northern Cass	20.72	3	3	6	Riley Johnson
8th Grade Boys		HCV	21.19	4	4	5	Jake Wright
	110 M Hurdles	Maple Valley-End	22.78	5	5	4	Marty Rohrbeck
8th Grade Boys		Kindred	22.86	6	6	3	Tyler Klockmann
8th Grade Boys		HCV	24.44	7	7	2	Reeve Leiser
8th Grade Boys	200 M Hurdles	Kindred	29.25	1	1	10	Trey Heinrich
8th Grade Boys	200 M Hurdles	HCV	32.65	2	2	8	Jake Wright
8th Grade Boys		HCV	33.22	3	3	6	Reeve Leiser
8th Grade Boys		Central Cass	36.09	4	4	5	Jaden Johnson
8th Grade Boys	200 M Hurdles	Kindred	36.55	5	5	4	Brett Baumgarten
		-		-	-	· · · · ·	
8th Grade Boys	Long Jump	Maple Valley-End	16-8"		1	10	Clay Hovelson
8th Grade Boys	Long Jump	Central Cass	15-5"		2	8	Owen Wiersma
8th Grade Boys	Long Jump	HCV	14-10"		3	6	Micah Longthorne
8th Grade Boys	Long Jump	HCV	14-4"		4	5	John Kaldor
						-	

8th Grade Boys	Long Jump	Maple Valley-End	13-11"		6	3	Colton Iwen
8th Grade Boys	Long Jump	HCV	13-9"		7	1.5	Reeve Leiser
8th Grade Boys	Long Jump	Central Cass	13-9"		7	1.5	Andrew Meyer
Bth Grade Boys	Long Jump	Kindred	13-5"				Jack Ilvedson
8th Grade Boys	Long Jump	Kindred	12-6"				Tyler Klockmann
8th Grade Boys	Long Jump	Central Cass	12-5"				Jaden Johnson
8th Grade Boys	Long Jump	Kindred	12-4"				Masen Allmaras
th Grade Boys	Long Jump	Valley City	10-9"				Koye Grebel
8th Grade Boys	Long Jump	Central Cass	9-10"				Parker Mack
8th Grade Boys	Shot Put	Kindred	41-10.50"		1	10	Blake Houska
th Grade Boys	Shot Put	Central Cass	40-8.50"		2	8	Joseph Shoemaker
th Grade Boys	Shot Put	Central Cass	36-6"		3	6	Garrett Haugen
th Grade Boys	Shot Put	Valley City	36-1.50"		4	5	Khalub Smith
th Grade Boys	Shot Put	Northern Cass	31-10"		5	4	Landon Nicholas
th Grade Boys	Shot Put	Northern Cass	31-1"		6	2.5	Lincoln Sprague
th Grade Boys	Shot Put	Kindred	31-1"		6	2.5	Jack Huesman
th Grade Boys	Shot Put	Central Cass	29-4.50"		8	1	Anthony Houle
th Grade Boys	Shot Put	Central Cass	28-4"				Owen Wiersma
th Grade Boys	Shot Put	Central Cass	27-0.50"				Josiah Crandall
th Grade Boys	Shot Put	Central Cass	24-3.50"				Cooper Johnson
th Grade Boys	Shot Put	Central Cass	23-4.50"				Parker Mack
th Grade Boys	Shot Put	Central Cass	21-9"				Jaden Johnson
th Grade Boys	Discus	Central Cass	122-0"		1	10	Joseph Shoemaker
th Grade Boys	Discus	Kindred	110-6"		2	8	Blake Houska
th Grade Boys	Discus	Central Cass	91-2"		3	6	Anthony Houle
th Grade Boys	Discus	Kindred	90-3"		4	5	Jack Huesman
th Grade Boys	Discus	Central Cass	86-5"		5	4	Garrett Haugen
8th Grade Boys	Discus	Northern Cass	86-4"		6	3	Landon Nicholas
th Grade Boys	Discus	Northern Cass	76-7"		7	2	Lincoln Sprague
3th Grade Boys	Triple Jump	Central Cass	33-6"		1	10	Andrew Meyer
8th Grade Boys	Triple Jump	Kindred	32-0"		2	8	Cort McDonald
th Grade Boys	Triple Jump	Kindred	29-7"		3	6	Tyler Klockmann
th Grade Boys	Triple Jump	Maple Valley-End	28-2"		4	5	Riley Fernow
th Grade Boys	Triple Jump	Kindred	26-7"		5	4	Brett Baumgarten
th Grade Boys	High Jump	HCV	5-6"		1	10	Harley Hudson
th Grade Boys	High Jump	Kindred	5-4"		2	8	Jorgen Swenson
th Grade Boys	High Jump	HCV	5-2"		3	6	John Kaldor
th Grade Boys	High Jump	Maple Valley-End	5-0"		4	5	Clay Hovelson
th Grade Boys	High Jump	HCV	4-10"		5	3.5	Micah Longthorne
th Grade Boys	High Jump	Central Cass	4-10"		5	3.5	Andrew Meyer
th Grade Boys	High Jump	Northern Cass	4-8"		7	1	Riley Johnson
th Grade Boys	High Jump	Central Cass	4-8"		7	1	Cooper Johnson
th Grade Boys	High Jump	Kindred	4-8"		7	1	Tyler Klockmann
th Grade Boys	High Jump	HCV	4-6"				Riley Olsen
th Grade Boys	High Jump	Central Cass	4-6"				Owen Wiersma
th Grade Boys		Central Cass	4-4"				Josiah Crandall
th Grade Boys	High Jump	Kindred	4-4"				Jack Ilvedson
th Grade Boys	Throwers Relay	Central Cass (A)	56.56	1	1		CC#1, X
-	Throwers Relay		1:04.53	2	2		Ki#15, X
	,	Northern Cass (A	1:13.79	3	3		NC#9, X